<ERREZME-BRE>

ECYVES

Kb NSRS (F)
B R/ iR FEH 58 6 A 7R
= foRE CIES 2 CIES 2 CIES ®F
L—=7 —a—Y—5UK| 200g 1Ny 1,080 1,080 | 1,080
FAYHUFT)— TAH 300g 1Ny 810 810 402
FAYHUFT)— TA)H 500g 1Ny 1,512 1,296 1,296 | 1,296 | 1,296
kSR K% 100g 1nN'yh 1,080 1,080
FHE rE 300g esisa 5,940
=X K% 300g | 1Wyy(BEER) 3,240
=17 rE 300g esiFa 3,240
1SR K% 300g | 1Wyy(BEER) 3,240 2,970
1SR RE 300g esisa 5,940 4,320
{E kiR Lz 200g 1NVyY 648
{E kR Lz 300g 1N'yY 3,240
{E kiR Lz 500g 1N'yY 3,780
{E kR L 1kg 1VyY 2,160
{E kR iz 1kg 158 5,400
{E kR iz 300g | 1wy (BEER) 2,700
B AR {E kR L 300g R0 8,640
{E kR L 300g R 10,800
{E kR L 500g (&7 16,200 8,640
{E kiR L 1kg 7] 10,800
FHE L 300g 1N'yY 2,970
HFHE L 300g esiss 7,560 6,480 6,480
FHE L 500g {eRFs 8,640
fIEE L 500g | Hd (BEZH) 4,320
L FHE L 50g 1hy7 864 648
{E kR =S 300g | 1L#EFE (RFE) 10,800
TR TIE 200g 1n'yY 972
TR TIES 200¢g 1n'yY 1,080
{E kR dtiEE 300g 1N'yY 1,296
I FHE dtiEE 300g esisa 10,800
I FHE dtiEE 500g 1NyY
fIEIE 5 500g 1N'yY 2,700
{E kR i 500g esisa 8,640




<ERREZME-BRE>

ECYVES

. - INSEfTEAE (F)
Noir—o
BB T/ EhiE FEH 58 6 A 7R
= foRE CIES 2 CIES 2 CIES ®F
{E kiR 11} 100g 1Ny 1,080 1,080
{E kR Lz 200g 1N'yY 780
{E kR 11} 200g 1Y 1,496 1,080
fIHE iz 100g 1Ny 980
fIHE 11} 200g 1N9Y 699
FHE Lz 300g esisa 8,640
{E kR 11} 300g esisa 8,640 8,640 | 10,800
BEEB(RRK) {E kR 11} 500g esisa 8,640
{E kR iz 500g 158 3,240
{E kR 11} 500g 1N'yY 3,240
=12 11} 300g R0 8,640
{E kR FE 1kg 158 3,240
kR dtiEE 200g 1N'9Y 1,080
TA) AL Fz— TAYH 200g 1Ny 980 980
L—=7 TAA 200g 1n'yh 980
{E kR 11} 100g 1Ny 1,080 1,080
{E kR 11} 200g 1N9Y 1,080 1,080
kR 11} 300g 1N'yY 3,240
{E kR 11} 500g 158 5,400
{E kR 11} 500g 1N'yY 4,104
I FHE Lz 300g esisa 10,800
HEEC(HRR) I FHE iz 500g 11'y) 4,104
AL iz 100g 1n'yY 1,080
ALgs iz 200g 1nN'yh 1,620
ALgs iz 300g 156 (HRF8) 12,960
TR K% 300g | 1Wyy(BEER) 5,940 5,400 5,400
{E kR /4| 200g 1Y 1,080
FAYHUFT)— TA)H 200g 19y 648 648 648
FAYHUFT)— TA)H 300g 1NyY 1,200 1,200 1,200 | 1,200




<ERREZME-BRE>

HKBAIFE

Kb NSRS (F)
BB T/ iR FEH 5A 6 A 7R
= foRE CIES 2 CIES 2 CIES £
{E kiR =¥l 200g 155 (FR%8)
{E kR Lz 500g esisa 21,600 | 16,200
{E kR 11} 300g esisa 16,200 | 10,800 8,640
{E kR 11} 300g [#7E] 18,000 | 12,960
REFMEAFRE) fIFHE 11} 500g esisa 16,200
fFHE 11} 300g esisa 12,960
{E kR FE 300g esisa 12,960
{E kR FE 300g esisa 16,200
kR FE 500g [#7E] 19,440
{E kR 11} 300g [ 19,440
I FHE 11} 300g esisa 10,800
fIFHE Lz 300g e#isa 12,960 | 12,960
kR 11} 300g esisa 16,200 16,200
{E kR 11} 400g | AT (EEER) 6,480 6,480
{E kR L 100g 1hy7" 3,368
{E kR L 100g 1hy7" 3,240
{E kR L 100g 1hy7" 2,160 | 2,160
{E kR L 200g 1N'yY 1,620 | 1,944
Algs 1157 200g 1YY 3,564
{E kR L 500g esisa 19,440
{E kR L 500g [ ] 10,800
PR (S X) {EiksR RE 300g [ ] 12,960 | 10,800
kR RE 300g esisa 16,200 | 12,960
A3 K% 200g | 1Wyh(BEER) 6,480
iR K% 300g | 1WyI(REER) 7,880
=12 rE 100g 1hy7" 2,160
=17 K% 200g | 1Wyh(BEER) 6,800
=17 K% 200g | 1Wyh(BEER) 8,424
1SR RE 100g 1hy7" 2,690 2,592 2,592
{ikRsR RE 100g 1hy7" 3,240 3,240 3,240
fIFHE RE 100g 1hy7" 2,160
fFHE RE 300g (&7 16,200 | 18,000
FHE RE 300g esisa 12,960
{E kR FE 200g | 1y (BEER) 6,264
{E kiR FE 500g (&7 ] 12,960 | 12,960




ECYVES

< KBEHRIE>
. . INSEAEAE (F)
Noir—o
JE&E2 ma/ g Eth 5A 6 A 78
2 i CIES E £ CIES E £ CIES E £
kSR 1157 100g 1N'yh 1,480
{iRsR 1157 200g 1N'yY 370 463
1SR 11} 1kg 158 2,500
kSR iz 1k =i 3,700
KEBREACTHE) = =
F5IE itz 200g 1YY 463 594
1SR bl 200g 1Ny 463
FAYhF)— FA)H 500g 1NyY 599
L—=7Fz)— TAYA 500g 1nyh 650
1iRsR 17} 300g 1L ¥E%E 2,980 2,138
1RsR 11} 1kg 1L $E%E 3,980
1ERSR 17} 200g 1Ny 398
1 iRsR 1757 100g 1N'yh 980 680 680
1iRSR 113 1kg 158 2,480
HFHIE 1757 100g 1NyY 626
. . L 55IE 1757 200g 1N°yh 980
ARERECCIRE) M HIE Wi 300g btss 4,298
LFHIE 11} 1kg 1L #E%E 3,980
TR TIE) 200g 1nN'yh 861
=X TIE) 200g 1nN'yh 861 480
kSR | 200g 1NyY 398
{iksR b 200g 1NyY 398
FAYAF)— FA)H 200g 1NyY 518 480




